5.3% D&fdn Omiter ]éllowe/‘ ’[or A, = 0. ¥S
Rr > 10 k2, R = 200 2.

Vee = 2.5V

]
Vin Vout E:>
RL % 200

<

By Kb af Vout: 0= igt g Vr

RL [ r
o, U = | Vout
it R
Goe trzf., wiE g &
oo Ur 7 Vot
QMEL

Bf] KvL @Vm bin o J/mmo(: Vi z U + Vout.
o Via = Vowt | Vot - (H y&_) Yok,

QMRL jMRL
yﬁ'—'ﬂ- - Au - ___ﬂ___/_m K.
Vin ]+ 6m/el.

Gien  Av = 035 ol R =200 2
035 (1 + 2005‘,,) = 2004,
085 = (200 - 035 "Z”")ﬁ’m
w = 2333 mS,
S Le = VTgm = 736.7 /m/l



Desiw  biws (R). Vse= Ur dn( = )z 07237 v

"l

U[: S IR S IcR = 0.1473 1.

VB:V35+ VE S 0.37)1 l/'

iﬁ,:Zﬁ‘l} R, = VCL‘VE
R,i JTe Ig
vk i) ~ U - g
= Y =
I, Ve Ic//-‘»
%‘LIE = 2210 Lo
4=

Checle  Tnpat  resictace Ron > [0 Q_Q_

> 2.5
NI NIveE

~ 2 ="

- R 3 I‘ﬂ%!j "’I i = Rin = R /{ Rin2.
Eﬁ’m& L _\_j To calc. Em;,, notne that
- SR, tHhe 7M'/0M7L A R s
E a@p/:iM é‘\'} +he Cnrent
Sourre,

Vst = igfe + (ig+ Pis)R,

G o _—

(

— - Kinz -

3

/2

—

2
(74

S

(J

(72 G ° 233> = 3.53 kAL

4

S

Ring= 3.53 x0® + (I + 100) x200 = 23.73 ka.

S Ra = R // Rian = 2210 bn /[ 2373 b =214 k.

. Exceals e reguirgment.




